input_3: InputLayer

input:

(None, 120, 15)

output:

(None, 120, 15)

—

.

Istm_O_f: LSTM

input:

(None, 120, 15)

output:

(None, 120, 1024)

Istm_0O_b: LSTM

nput:

(None, 120, 15)

output:

(None, 120, 1024)

.

—

in_lIstm_3: LSTM

input: | [(None, 120, 1024), (None, 120, 1024)]
concatenate: Concatenate
output: (None, 120, 2048)
input: | (None, 120, 2048)

output: | (None, 120, 512)
input: | (None, 120, 512)
flatten_1: Flatten
output: (None, 61440)
input: | (None, 61440)
dense_1: Dense
output: | (None, 1024)

'

(None, 1024)

leaky_re_lu_3: LeakyReLU

input:

output:

(None, 1024)

o

o~

z_ mean: Dense

input:

(None, 1024)

output:

(None, 2000)

z_log_var: Dense

input:

(None, 1024)

output:

(None, 2000)

~,

P

lambda: Lambda

input:

[(None, 2000), (None, 2000)]

output:

(None, 2000)

'

latent_input: Dense

nput:

(None, 2000)

output:

(None, 2000)

'

mput: | (None, 2000)
leaky_re_lu_4: LeakyReLLU
output: | (None, 2000)
input: (None, 2000)
repeat_vector: RepeatVector
output: | (None, 120, 2000)
A 4
input: | (None, 120, 2000)
out_lstm_1: LSTM
output: | (None, 120, 512)

'

input:

(None, 120, 512)

out_Istm_2: LSTM

output:

(None, 120, 512)

'

input:

(None, 120, 512)

out_Istm_3: LSTM

output:

(None, 120, 512)

'

decoded_mean(dense_2): TimeDistributed(Dense)

input:

(None, 120, 512)

output:

(None, 120, 15)




